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1. What is the age range of the workforce
population in India?
A.10 to 50 years
B. 15 to 59 years
C.18 to 60 years
D. 16 to 65 years (B)
Explanation: The PDF states that the workforce
population includes people from 15 to 59 years.
2. What type of unemployment occurs when more
people are employed in an activity than required?
A. Urban Unemployment
B. Seasonal Unemployment
C. Disguised Unemployment
D. Structural Unemployment ©
Explanation: Disguised unemployment is defined as
more people being employed inan activity than
actually required.
3. Which of the following is a major cause of urban
unemployment?
A. Seasonal variation
B. Floods and drought
C. Lack of formal education
D. Educated youth not finding jobs (D)
Explanation: The PDF mentions urban unemployment
as occurring when educated youth in urban areas
cannot find jobs.
4. What is one major effect of unemployment?
A. It boosts economic growth
B. It causes feelings of hopelessness
C. It reduces the workforce size
D. It promotes savings (B)
Explanation: The PDF lists hopelessness and despair
among youth as a key effect of unemployment.
5. Seasonal unemployment happens when people—
A. work part-time in factories
B. are unemployed all year
C. cannot find work during part of the year
D. work in multiple sectors ©
Explanation : Seasonal unemployment occurs when
people are unable to find work during specific
times of the year due to seasonal variations.

6. Inrural areas, the employment structure is
dominated by—
A. government employment
B. private sector jobs
C. self-employment in agriculture
D. industrial employment (@)
Explanation: The PDF clearly states that rural
employment is dominated by self-employment in
the primary (agriculture) sector.
7. What is a major reason for migration from villages
to cities?
A. High literacy
B. Surplus labor in agriculture
C. Urban unemployment
D. Better weather in cities (B)
Explanation: Surplus labor due to disguised
unemployment in villages leads people to migrate
to urban areas for jobs.
8. Which sector has seen a decline in population
dependency due to disguised unemployment?
A. Tertiary B. Agricultural
C. Secondary D. Service (B)
Explanation: The PDF notes that dependency on
agriculture has declined due to disguised
unemployment.
9. Which service is an example of employment
generation in the tertiary sector?
A. Plough design
B. Tailoring
C. Biotechnology
D. Farming ©
Explanation: Biotechnology is mentioned as a new
service in the tertiary sector.
10. How did human capital help transform the village
in the story?
A. It increased land ownership
B. It reduced school attendance
C. It brought in modern jobs and services
D. It stopped migration (@)
Explanation: The village improved with education and
skills, leading to jobs like teacher, tailor, and agro-
engineer.
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